Divide by Negative Powers of Ten (I)

Find each quotient.

92 +0.001 = 93 +-0.01=
52 +0.001 = 81+0.1=
95 +0.001 = 88 +-0.1=
74 - 0.01 = 49 - 0.1 =
69 - 0.01 = 81 +0.001 =
22 +0.001 = 47 - 0.1 =
79 +-0.1= 87 - 0.001 =
86 - 0.1 = 17 +0.01 =
22 +01= 96 - 0.1 =
17 - 0.01 = 18 - 0.001 =
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Divide by Negative Powers of Ten (I) Answers

Find each quotient.

92 +0.001 =92,000 93 +-0.01=9,300
52 +0.001=52,000 81+ 0.1 =810

95 +0.001 =95,000 88 + 0.1 =880

74 +0.01 =7,400 49 - 0.1 =490

69 = 0.01 = 6,900 81+ 0.001 =81,000
22 +0.001 = 22,000 47 - 0.1 =470

79 +0.1=790 87 +0.001 =87,000
86 + 0.1 =860 17 +0.01=1,700
22 +0.1=220 96 - 0.1 =960

17 +0.01=1,700 18 +-0.001 = 18,000
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